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1) P=0,D) @ =C-1,-1
v o= {nt,nd
FO,2)-= (\,D
FC-4-0= K1,-N
Sketded on maple

3 P=(0,,0) , &= (2,1,0?
F= <"‘a)7—1;"">
FM,), 0 =<0,1,0>
&.(2,),0) =<2,0,20
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5) F = <1,0 %mx-ag‘ns.?
-353&3
Sketched en vople

¥) Fz=al ¢§n3cnge3
-3_43 <3

Sketched en vople

Q) F=lo,my ¢n3cn<3
Flou,p={0s2) B3

Skelched en vgple



Sketched en vople
1%) F= <y, yz, 4D

1. curl F equals
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Set it up for the specific P, @, R.

., oP 0Q OR
dZUF_6x+8y+8z :




ol = (3,378’,-1)
div F :'0%1 (%3) + ‘L(jz)-f d (yr-gd
Ga az \3 ’

M .
0pd. ey F ='a-kz
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F= <n-lzm",z-%3 ;2D

cuwd F = upm.a £oswrmulda. Ze
rmopda

= <, 2mn-- 2‘12‘2) "U>
Qiv C(F) = \=4nz—n +1n?5,
at) F = <z-na°‘)'n’cz'5, 3*%”')

o (F) = 1-32%, 1-2 %, 14245
Qis (F) = ©
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